201943 H02H

~N o g b~ owwN

Win
ERRH
2 3 W
b E ERRH
3 1 W W 1
W b ERRH KEBEH
1 3 4
1 2 3 4 5 6 17 1 2 3 4 5 6
G|k|E|F|=Z|FEINDIFE(W|L|H|[X|HF|IE G|X|[t|aT|ER|[#H|IE[W|L|[EF|X|[=F|IE
a |B|B[R[E(W|(F|X RIR|X| a |BILEIN|B|R|E RIR|X|
148 m|FF|2|E|E Z| R 248 m|E|& MBIE|F
e |fT|H|E|H x| 1 e | th|#t =
%
REFIT 4 Wlw|l1]|w 3 1| 13| 11| 2| 4 1 | KEBEH 4 3IW|wW|[ 1] 2 212 10 2| 1
RELAH 4 11121 o] 4 5| 16|##| 7 2 |ith b4t 4 1iwlw]| 3| 2| 2 12 11] 1| 2
FREEF| 4| 1 21112 o] 4| 6| 16|##| 6 3 |’ 4|lwlw 3|1 2| 2| 12| 12| of 3
=FEHh 413w w(lwl| 3 1| 15] 11| 4| 3 4 |REHE 4111w Wl 2 2| 10| 14| -4] 6
L 4 (wlwlw 3| 3] 1|15 8] 7| 1 5 |FRE 4 (12w wl 2 2| 11] 10 1] 5
INFEEX 413 |wW|wl|a3 2 2| 14 11] 3 6 |[RiEF 41wW|w 311 2( 2| 12] 12| o 4
EXRRH 4 wWiwl|l3]|w 3[ 1] 15/ 10[ 5| 2




